Somme algebriche

Periodo 1 - UdA 1-2

Risolvere le seguenti somme algebriche
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54+ (=3)—(—4)—9—2—(—=8)+ (-3
—24+(=2)=3—(-1)+5+2—(-3)
1—8—(-3)+(—4)+1+ (-2
—2—(-1)—(1-4H)4+2-3)+(1+1)—(-5+06)
—(—1—-4)—-B—-6+3)+(=5+3)+(—2—-2+4)+(—1)
—(3-44+2)—B3-5+44)—-05—-4-3)—(-5+1-2)
—(=14+4—-06)+(-5+3)—2—(-H+3+1)—(—2—-1+4) —2|+4
1-[-3-=5)—(-1-2)]-[0—(5b—-3—-2)+(8—3+4) —8]—(—2—4)
—4—[5-3-2)—-T42—-1-2+1)+B3+4-5)]—-2+1)+6
1+{—[-1—(=5+4)] -6}
—(=5+4)+{-(4-2)+[-5+(—4+38)]}
—{—1+[7T—4+1)—8=3)]—-[(3=5)—(—4—2)+1]+4} +2



SOLUZIONI
Somme algebriche  Periodo 1 - UdA 1-2

1] 0 2] 4
EI 4] 2
5] 2 6] 5
75 s 1
9] 6 0] =5



